
Candidate Marks Report
Series : 6 2018
This candidate's script has been assessed using On-Screen Marking. The marks are therefore
not shown on the script itself, but are summarised in the table below.

Centre No : Assessment Code : H460
Candidate No : Component Code : 01
Candidate Name :

Total Marks : 33 / 80

In the table below ‘Total Mark’ records the mark scored by this candidate.
‘Max Mark’ records the Maximum Mark available for the question.

Paper: H460/01

Paper
Total:

33 / 80

Question Total
Mark

/ Max
Mark

Used
In

Total
1a 2 / 2
1b 2 / 3
1ci 2 / 2
1cii 1 / 3
1d 3 / 8
1e 7 / 12
2 7 / 25
3 NR / 25
4 NR / 25
5 9 / 25









































Off Page Comments

Item Name Comment
1e Only REASONABLE An on the 1st page Only REASONABLE Ev

on the 2nd page Overall KU therefore REASONABLE
5 Incorrect stuff re elasticities on 1st page LIMITED An on 2nd

page becoming REASONABLE on XED at the bottom of the
page, followd by some LIMITED Ev about strength of the
relationship Final page lifts the Ev to REASONABLE - ie
avoidance of price war / predatory pricing Overall KU is only
REASONABLE

1d 1st para is only REASONABLE An because of lack of economic
concepts No Ev anywhere in the answer KU therefore LIMITED
Limited, Reasonable, No is equivalent in the Grid to Limited,
Limited, Limited ie 1 down on An, 1 up on Ev

2 Does not address the Q on the 1st page Confusion at top of 2nd
page but some LIMITED An related to excess supply - confuision
on the rest of the page LIMITED Ev an top of Page 12 followed
by more confused stuff, more NAQ but reaches REASONABLE
Ev on Page 13 Overall KU is only REASONABLE therefore

1b 1 mark for correctly identifying interest and depreciation as FC =
1.4 + 6.3 1 mark for dividing by 2.2 (forgive the lack of million!)




